Describe position (1)
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The circle is ta the of the triangle.

The Sqare i5 to the ri.ghl -:1] the
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The Jfrnmr iz

the -l?l-:[rarrm.

The 44rame & to the left of the

The triangle is to the of the square.
Tha Is ta the I.-::[1 n-j the cirche
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Tha i to the right af the tangle.
The rectangle & 1o the af the circle.
The square is to the of the rectangle.

The circle & oo the rugl'u n_f the

The El-]'rl:lmn = below the

The 14§rame i to the

aof the 2-frame

The is 1 the left af the S5-frams

b
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The cirele @ vo the left of the

The square is to the uf the Lri.n.r.gl.-l'.

The & o the r.r_.'|h| n]’ the seueare

The rectangle is 1o the af the circle.

Thig red appl:' i to the
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The is vo the right of the srange

-:|_f the bonana

The cherry is

lhe banana & below the

The par is 1 the

|'.-_1' the Qg
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Challenge cards

Create 90!." own sentences usl

ng above, below, l'ft or rlghl




